MATH 202.5 (Term 152)

Quiz 6 (Sects. 8.2 & 8.3)

Name:

Duration: 30min

ID number:

1.)(4pts)Solve the homogeneous linear system X' = (5 _1) X.

1 3

2.)(3pts)Solve the homogeneous linear system X’ = (1 —1) X.

3.)(3pts)Solve the system X' = AX + (

fundamental matrix of X’ = AX.
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MATH 202.10 (Term 152)
Quiz 6 (Sects. 8.2 & 8.3) Duration: 30min

Name: ID number:

1.)(4pts)Solve the homogeneous linear system X' = (f _41> X.

2.)(3pts)Solve the homogeneous linear system X’ = <_23 ;) X.

t 2t —t
3.)(3pts)Solve the system X' = AX + (t(la ), given that ®(t) = (_626% 3ee—t) is a
fundamental matrix of X' = AX.
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